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o B & O B SIS g B A %
1 4Ry wI)L 3| 4 | 3| 21200 | ) | ERAE
2 JarT4—I7 3% | 4 | 3 14,700 | )l | RNHERE
3 | A—3—TA 3% | 4 | 3 14370 | XH# | EER
4 Faorz4)y 3% | 4 | 3 13,590 | ;#E# | MAE
5 | RFqO0—Y 3| 4t | 3 | 12950 | B | XH=
6 |wAHY 3% 4| 3 12260 | JIl% | HEF
7 J)—ro—F 3% | 4 | 3 11,100 | )l @ BAE
8 |[E7/<Y 3% 4| 3 10,800 | ¥ | EEE
9 |Z7ILarH4Y 3% 4| 3 10,550 | ;@E# | MAE
10 [ /1vy¥FHhtA 3% 4| 3 9,000 M | EEE
11 |[Eq/OA—=T )L 3% 4| 3 8,750 KHF | HFTE
12 LA TR 3% | 4 | 3 8,125 A | A
13 JLART4—=F 3% 4| 3 8,040 Jlg | NEB
14 k47— 3% 4| 3 7,230 mE | XEE
15 I NTU)—% X 3% 4| 3 7,135 XHF | HFA
16 | FoT4—I4—45 3| 4t | 3 6,270 | JII | NEE
17 | BTV RE— 3% 4| 3 6,040 A | e
18 |F/AFT)L 3% | 4 | 3 5,926 JIg | \KE
19 |¥F—H<T vy 3% 4| 3 5,897 JIg | s
20 /\t/T—)LKR 3% | 4 | 3 5,700 fets | SREE
21 |[RYR T4 3% | 4 | 3 5,695 mE | uhE
22 AR TYOR 3% 4| 3 5,675 Jlg | fER{Z
23 RUETY 3% 4| 3 5,360 JIg | HEZ
24 |TooT)LivA0 3% | 4 | 3 5,350 KHF | HFTE
25 k=42 <ayk 3% | 4 | 3 5,345 M | R
26 | I—)LKRTJ— 3% 4| 3 5,050 A | O
27 R a Yk 3% 4| 3 5,040 M | K=
28 | 7A+ILT—ILKR 3% | 4 | 3 5,000 KF | mF
29 |aAHTRTIL 3% 4| 3 4,700 g | BT
30 MF//YS 3% | £ | 3 4,400 JIg | \KE
31 [ 7ILT7—k 3% 4| 3 4,325 JIg | s
32 |95 yays 3% | 4t | 3 4,035 B | IR
33 |+ /EHE— 3% | 4 | 3 3,931 g | BT
34 | EFSAT 3% | 4 | 3 3,850 g | BEF
35 [ HSUAHRTAIL 3% | 4t | 3 3,775 XH# | 2HE
36 |4 J)Lravy 3% | 4 | 3 2,900 XH#H | IEAZE
37 |V 3% | 4 | 3 2,840 XF#F | HIBE
38 FRKHTYRY 3% | 4 | 3 2,700 JIg | L
39 [ 3T AHhS5— 3% | 4 | 3 2,500 A | NER
40 | H 2 RH1) vk k| 4| 3 2,100 KHF | EHE
41 |7 IV A—K 3% | | 3 1,550 XH | aFR




